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Al 361,660
01 A3l EE & 6l = 471,400 114,330 357,070
oO0eold &0 XA 471,400
< 109,740
Al 361,660
S0l nsstZofsde XA 10,500 3,000 7,500
< 3,150
Al 7,350
402 RIZEX20l ™ 10,500 3,000 7,500
< 3,150
Al 7,350




SN HE IS
B 014 - OIS =X BA

&4 otsE=s & (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 10,500 3,000 7,500
OZ23E0eolE nssFHLd X 10,500
= 3,150
Al 7,350
Oelold S2tAaldl X 609,896 634,100 A 24,204
< 182,968
Al 426,928
307 21201 A 609,896 634,100 A 24,204
< 182,968
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01 At 22l 3,000 3,000 0
OntASAES K& 3,000
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
Ot SAES NE =23 5,000
301 LA F 28,660 28,660 0
12 JIEtE4 = 28,660 28,660 0
ONM3ASA 324 5,000& 60 «12& 3,600
OF2Y K24 HASA HOX HE2Y
5,0003 * 11+ 160 2 23] 1,760
OAEXANE SAES SUHA 2SE2Y
5,000& 10 160 =128 9,600
ORO0t= &L SAU LSS SAH ZHA &
s24 5,000 «4H +23] x 160 S+ 122 7,680
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